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Q.1 Choose the right option and rewrite the sentence 2
India has a higher ............... population.
a. older b. working c. children d. dependent
............... basin is very sparsely populated.
a. Amazon b. Parana c. North coast d. Sao - Paulo
Q.2 Complete the Analogy 2
Animals -
Arid region : Wild Ass and Camel :: Himalayas: ...............
Census count -
India : start of the decade : : Brazil : ...............
Q.3 Match the Correct Pairs 4
Column "A" Column "B"
i 2"d populated country a. Per 1000 males
ii. 5 populated country b. Every 10 years.
iii. Sex-ratio C. India
iv. Census survey d. Brazil
e. Literacy-ratio
f. Medical facilities
Q4 Differentiate the following 2
Difference between forest in Brazil and forest in India.
Q.5 Give Geographical Reasons 6
India’s population density is high.
A wide variety of species of insects is found in Brazil.
Q.6 Answer in detail/ brief(Any One) 4

Giving example, correlate the climate and population distribution.

Explain the similarities and differences between the population distribution in Brazil and India similarities.
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